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() B y=ax+b-oax+b=y (1)
5E25.
EROFRHBabERETIICL2EHNIE+HTHDIM, I
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(x,¥)=(0, 1.1), (1,1.9), (2,3.1), (3,3.8)
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AH%a,blcxt LTCERFBZTHAD LEANDR/N_FTLIEE ab %=
MATLABTCK®HB T EDTES

A=[01;11;21;31] % REITIIDIERK
Y=[1.11.93.13.8]' % HGiIXT FIVDIERK
C=A¥Y % EYIHIET\ ZfE <

a=C(1)

b=C(2)
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plot([0:31,Y, ‘0" ); hold on % 7T—RaxOT7Ov b
xx=0:3; yy=a*xx+b; plot(xx,yy) % E#R y=ax+bZ7O0v k
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* ARDT—Z((xy)=(0,1.1), (1,1.9), (2,3.1), (3,3.8)&ESMERE
RDORZRHB 7075 L(—ED)

Xm=[sum(X.A2) sum (X); sum (X) NIJ;
Ym=[sum(X.*Y); sum(Y)];
AB=Xm¥Ym
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hO=figure(‘Position’,[150 150 500 400]); J57% <01k (h0)&ES
hl=axes(... . oL — 4 "

Parent ho.... D4V RICERTEEZES

'‘Units','pixels’,...

'Position’,[60 100 400 280]... FERZEEDE T A EDEE

);
h2=uicontrol(... RA %<

'‘Parent’,ho0, ...’

Style','Pushbutton’,... KA (=[x heli "
‘Position’,[60 20 100 40],... R Thelix) <

'String’,'Helix’,...

'Callback’,['sub1701("helix")1... REAV DI =5 #subl1701

); S, Bl#L helix]
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h3=uicontrol(... LV EDREFVZEREE . REVIZIETSinc

'Parent’,h0, ... <
'Style','Pushbutton’,...
'‘Position’,[210 20 100 40].... REIEEN - 588 subl1701
'String’,'Sinc',... Z0E 3%, B #E sincy
'Callback’,['sub1701("sinc")]...
);
h4=uicontrol(... SBIZEIVEDRAVEEE . KAV
'Parent’,ho0, ... [Exit ]
'Style','Pushbutton’,... 714
'‘Position’,[360 20 100 40],...
'String','Exit’,... REHBEEINT=6#sub1701
'Callback’,['sub1701("exit")1]... ZHES, BlEUE T exit]
);

NEETIT BRI IR—2DTA5 S5 LEEEHsub170l.mELNST7
AIWZBTAALTHL
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function sub10801(action)
switch(action)

case 'helix’
t=0:pi/50:10*pi;
plot3(sin(t),cos(t),t)

case 'sinc'
[X Y]=meshgrid(-8:0.5:8);
R=sqrt(X."2+Y."2)+eps;
Z=sin(R)./R;
mesh(Z)

otherwise
close
end
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